
S399211AB [Mid Back Seat, Black & White Vinyl] 

Instruction Guide 

 
1404 13th St. South     Humboldt, IA 50548     Phone: 844.247.2162     www.hy-capacity.com 

 

 

1. Bolt the left boomerang to the seat back placing a 1/2” washer and two 3/8” lock 

washers between the boomerang and the seat back. Fasten it using two 5/16” x 1” bolts  

2. Repeat step 1 for the right boomerang  

3. Insert the 3/4” bushing into the hole on 

the armrest 

4. Place a 1/2” washer on the 1/2” x 2 1/4" 

bolt. Place the bolt through the left 

armrest  

5. Place the 3/4” machine washer on the 

outside of the armrest onto the 3/4" 

bushing  

6. Place the two 3/4” spring washers on the 

3/4" bushing  

7. Fasten the armrest to the side of the seat 

back  

8. Repeat steps 3 though 7 for the right side 

of the seat  

 

 

 

Description  Quantity 

5/16” x 1” Bolt  4 
1/2” x 2 1/4" Bolt  2 
3/8” Lock Washer  4 
1/2" Washer  4 
3/4" Bushing  2 
3/4" Spring Washer  4 
3/4" Machine Washer  2 


